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am%aymaamﬁwmmsfmwga#mwmﬁﬁmqﬂm*mmﬁa
forar o &1 I 3nua e & arem wfafte fr § a1 YA & FeTar fEd Deadr A8 @@ # o

D)

You have been called for the written test based on the online data furnished by you in the web appiication,
If you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

-0, 80 TeAT & Il weer-qieaa H ¥ A Y IR afiem 1 3rafr 02 W ¥ |
The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

mﬁwﬁaﬁamﬁmm%magﬁﬁmﬁ#%wmﬁwm#aﬁml

The questions will be ob]ectlve type with four options out of which only one will be unambiguously correct.

Uedd W HAT 04 3iF g T ycdF AT Iedl HfAT TH ik BT S |
Each question carries 04 marks and one mark will be deducted for each wrong answer.

geat & Feal &Y 3 FoIT 3rerer STANR Jear-GiReashr &7 S|
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.
1YY, Scax-givaen A 4T T et & TR, AeN/FTel T & diel YT5E O A FTHAIN 3eal-

m%mmﬁmmmﬁmwwm%l

You have to select the right answer by marklng the corresponding oval on the OMR answer sheet by
blue/black ball point pen as per the instructions given in the answer sheet.

T 93T & TAT 3 et ITed AT Seam|
Multiple answers for a question will be regarded as wrong answer.
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8 I EN B & AR Yea-TREaw His MTAIR Jeax g W Rfdse Furs W e @iigwy

Question booklet code printed on the top right comer should be written in the OMR answer sheet in the space
provided.

9. WeA-GREARI H HTIHT ATH AT HeTshaATeh el ford |

Enter your Name and Roll Number correctly in the question booklet.

10.  INTHAAR Jeci-qfecent & T sfafsear delarel wamé & ater wge der & & 1 =i IRy

All entries in the OMR answer sheet should be with blue/black ball point pen only.

1. o gfer & fAdieres i 3ufEufy 3 & 3mus! gTa-RFe/BIIame 9T s ani &= aRT|

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

12, fd wen go-are flef & Hey HeA, Hrelpae, Alalge Bl U1 Hed TG FI. -
T, e H1fe offed Y HefAfe) AL & St

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be
allowed inside the written test hall.

13. g H IR ¥ :
Frfrare st wiY aror gadh afey s g @)

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand
over the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

14, EA-qRET 18T 379Y 9T T T B

The question booklet can be retained by the candidate.

15, o 0eT & W G & SR reafdat i adien g orge Y regfa wAE B

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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TECHNICIAN-B (MR & AC) - POST NO. 1397
1. 7 fr sufeyfa #F frdr e fr QU 71T

The insulation ability of an insulator with the presence of moisture would
(a) @&/ increase

(b) 3rwenfae WM/ remain unaffected

(¢) weal/decrease

(d) TATTATST TUT AeTeT < FETS F HTUR W 9 T °UE Johel &

may increase or decrease depending on temperature and thickness of insulation

Freon group of refrigerants are:

(a) Tadelraar quvla?lfr/ Toxic and polluting

(b) fafash T ssawereler / Non-toxic and non-inflammable

(c) T AfReT FENUTEHIY STET / Toxic, but not polluting

(d) 3=usaeerele U 3™ Wﬂ / Highly inflammable and highly polluting

In a refrigeration system the expansion device is connected between

(@) 3TTHIMEY TUT SITT / Receiver and evaporator
(b) arf®F T Gd5F / Evaporator and compressor
(c) TdrsE aum"enferT / Compressor and Condenser

(d) FEnfAT FuT HAIEY / Condenser and receiver

The cycle of operation in a vapour compression refrigerator is

(a) SchRAd FIAT / Reversed Carnot
(b) 3HfAA w1 / Reversed Rankine
(c) @t/ Carnot

(d) ¥=H=T/ Rankine
5. &s giewor 2x -3y = 7,x —y = 8 I yorelr & AT g Hr dEAr

Number of solutions for the system of linear equations 2x —3y =7, x —y = 8is
(a) 3=dfinfinite (b) THATT/unique
(c) a/two (d) FEgFFE/ no solution
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10.

T T hoER Faed R & foIw feiesy yenrt Y gfaret a1 suaier e &

A domestic refrigerator uses the following type of device for expansion

(a) FSHEAIF ared / Thermostatic Valve
(b) ereTel / Capillary tube

(c) Fwrdrarea/ Throttling Valve

(d) dreraTer/ Pitot tube

........................... 3T TF &1 gaT FEIAT ST Tohal B
Freon leak can be detected by

(@) guar/Smelling

(b) TS 1 fgTraeng ¥/ Lighted match stick
(¢) T f&a / Sulphur Stick

(d) gemss e/ Halide torch

200 g e T dahd & AR FEieg @ & 4 @fFg AR 4 Foger §) aer anfEa
AIATRIAT FT FYATH BT <ovveeeeirenee gl

In an office room of 200 sq ft floor area with 4 persons and 4 computers, the capacity of air
conditioner required is minimum

(a 05T/ T
(b 1&/T
(c) 2&/T
(d) S5z=/T

9 R o] WFeeX #1 e3aen 3i0F FAT F AU e oisr S § & =11 geme
When the door of a domestic refrigerator is left open for a long time, what will happen?
(a) = yfEe Mafera P/ Room will get cooler

(b) AT JF AT g9/ Room will get hotter

(c) FMFIATAAH El-ﬂé’ gfR@cdiet &1 / No change in room temperature

() T T Toem 3R IVFSICT 1 F1H et g F &I

More ice will form and Refrigerator will stop working

WOHEH BT GOT FT coocnencrcreererennne, gl
The full form of CFC is

(a) Chemically Freezing Carbides
(b) Chloro Fluro Carbons

(¢) Carburyis and Freon Compounds
(d) Chlorinated Freon Compounds
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11, TF GRATR! GTEd BT TATAT ovennrcrrermaeneees i
The operation of a solenoid valveisby __
(a) agHfea T/ Pneumatically
(b) @@/ Oil pressure
(c) Ten/Electricity
(d) TUTs g/ Permanent magnet

12. wmmmamwmmmmmwmmm
A reciprocating compressor in a refrigeration system has the following type of valve
(a) cared / Poppet valve
(b) GReTTere! ared / Solenoid valve
(c) SEIwarsarea/ Butterfly valve
(d) TR goff area / Globe valve or Rotary valve

13 fovee AEEERT ¥ & @R T H R

The in-door unit of a split air conditioner has

(a) HdEH W uf® / Compressor and condenser

(b) QT T TH saitare et / Evaporator and a blower fan

(c) aifeud, Hufe e ¥ / Evaporator, condenser and fan

(d) AR ared, aieTE T %=1/ Expansion valve, evaporator and fan

14. ﬁmﬁ@ﬁﬁﬂaﬁa-mmmmﬁﬁmammma?
Which of the following refrigerant is highly toxic and flammable?

(a) T/ Ammonia

(b) FTd+ 318 3ifFargs / Carbon dioxide
(©) T 212 3iTFS3 / Sulphur dioxide
(d) HFR-12/R-12

15. aﬁmwmmﬁmﬁﬁma:mﬁ .............................. &6 &l
The difference between dry bulb temperature and dew point temperature, is called
(a) YLHEA HaeTAA / Dry Bulb depression
(b) 3N Tod FHeT / Wet bulb depression
(c) 3aim HaFH / Dew point depression
(d) Eiea £ T / Degree of saturation
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17.

18.

19.

20.

(a) YSH A/ Dry air (b) SH a1 / Moist air
(c) WqT A/ Saturated air d)  3EaRg/ Wet air
1 2 3 _
At (4 5 6) LR g
7 8 1

1 2 3
Rank of the matrix (4 5 6lis
7 8 1

(@ 3 (b) 2 (© 1 d 9

wﬁawmwiﬁww#vmﬁmﬂaa#*mﬁmaﬁamm

Environmental protection agencies advice against the use of CFC refrigerants becayse

(a) #wﬁmmtma@mmﬁmmmwwwaﬁ
These react with water vapour in the air and cause acid rajn

(b) #ﬂeﬁ#m}rﬁrﬁ:mmﬁaﬁrmmmawmm%l
These react with plants and cause greenhouse effect

c) amammmﬁwmwwmmm

These react with oxygen and cause its depletion

(d) #mma;maﬁmm%aﬂrmé;mvrmwm%l

These react with ozone layer and causes its depletion

mha:ré?ua?a?ruamnﬂnam%mmﬁrwm ........................ gl
One tonne of refrigeration (1 TR) means that the heat removing capacity is

(@ 21 kJ/min (b) 210 kJ/min (©) 420 kJ/min (d 620 kJ/min
AT A R, IR S A fear S &

The humidification process on the psychometric chart is shown by

(a) & ¥@r/ Horizontal line (b)  FerR Y@/ Vertical line

(¢) STX@T /Inclined line (d)  F @ /Curved line
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21.

22.

23.

24.

25.

IrsieT & SHi¥a a1 aur wias W RRT a0 FR & 3R BT oo, Creld
The ratio of heat extracted in the refrigerator to the work-done on the refrigerant is called
(2) RN & FASIIET 7 oI
Coefficient of performance of refrigeration
(b) AT I & FASATES T I[OTIR
Coefficient of performance of heat pump
() forsures & 3mafeies Jpomeh
Relative coefficient of performance
(d) orefraer gaTar / Refrigerating efficiency

fraeer aur BT & ket fr faftee andar

The specific humidity during cooling and dehumidification

(a) TR E/Remains constant (b) &&dre/ Increases

(c) @&dAT®/Decreases (d) sSTHAUTHA 8T/ None of these
AT geiasr gontaal F A F AT TUT ATH FUTRT oo ¥ =T aa &
For ammonia refrigerating systems, the tubes of a shell and tube condenser are made of

(a) @/ Copper (b) gfAfEH/ Aluminium

(c) Ed/ Steel (d) drde/Brass

WHATET A A i, ZaRT eTel SITel B

The moisture in a refrigerant is removed by

(a) @IfS9F / Evaporator (b)  arsg ITATEY dAted / Vapour relief valve
(c) fUEleRe / Dehumidifier (d) e/ Drier

£\ CAT T e 1 -1 L A LA SRS FGaraG &

During humidification process, increases.

(2) 3 Sod daAE / Wet bulb temperature
(b)  3mAfENF 37T/ Relative humidity

(c) s dod arHAT / Dry bulb temperature
(d) faRrse 3gar/ Specific humidity
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26. mﬁs@aﬁﬁ%a@mmmmmﬁawtmaﬁ

27,

28.

29.

30.

.................... Fgd £

The temperature of air recorded by a thermometer, when it is not affected by the moisture present in

the air, is called

(a) 31 Few A9ART / Wet bulb temperature
(b) Y& Te= AART / Dry bulb temperature
(c) 3T aT9ART / Dew point temperature

(d) ZoTH A U T 7Y / None of these

HIMNOT JoTTell FEROITAT R=faf@a wilas a1 sughr axdr 2

Absorption system normally uses the following refrigerant

(@) %3i-11/Freon-11 (b)  W3HA-22/ Freon-22
() CO, (d) 3IAATT/ Ammonia
fFer g3 &1 wifaw g9 ag g gar ¥

Critical pressure of a liquid is the pressure

() O swWgaga@m

Above which liquid will remain liquid

(b) rFFwRegdTaaart
Above which liquid becomes gas

(c) o 39 g9 arsy gotar & 31 Rewie Fard
Above which liquid becomes vapour and explode

d) RS FREgaTaaAaTy

Above which liquid becomes solid

0 qert f s Rmwonhaar seaaa ¥

The material with highest thermal diffusivity is

(a) @er/Iron (b) ®=/Lead
(c) FHfT/Concrete (d) =/ Wood

foralr 1.5kw EreX gant 5 e #F 39 A T T

The energy used by a 1.5kW heater in 5 minutes is:
(a 15KJ (b) 450KJ () 75KIJ (d)

8
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31.

32.

33.

35.

36.

S (1/6) Q & foRdl gAY Y (1/4) Q F IANY F AR A AT Jar § O 3T gEE

The equivalent resistance when a resistance of (1/6) € is connected in parallel with a (1/4) Q
resistance is

@ 0.1Q by 0.5Q ) 1.0Q @ 100

T e 13 39 93 A 3H & A 0 A 10 T §) TARe 9 9 Rer 57 97 f
35 T g gl A Rar # 37 o gl

Age of father is 10 less than 3 times his son's age. Eleven years after, age of father will be twice
that of son's age. Then, the age of father is

(@ 39 (b) 21 () 53 (d) 61

TH 38 7 ST gl @ IAT o gl

In SI, the unit of thermal conductivity is .............

() J/m’K (b) Wm/K () WmK (d) WK/m

for AT W 3mfeaT g e ¥ IRf s F aRafda o s § (@R seew gy

The temperature at which ammonia changes from liquid state to gaseous state is (at atmospheric
condition)

@ 0°C (b) +33.3°C (©) 2398K d) 2238K

......................... & e N F g 9w S g

Decrease of DBT is seen during

(@) waeT fraeT/ Sensible cooling

(b) HAEH ATYA TAUT FATEFIOT / Sensible heating and dehumidification
(¢) 3EfRor/ Humidification

(d) UgTer/ Dehumidification

AR #, ardieggiesl @fgd e 3uaoi & qdaTr aur 3R SO gaTaT 1 TATOTTERaTaT

In India, the agency that conducts the testing and certify the energy efficiency of electrical
appliances including air conditioners is -----=-=--=----- ;

(a) ¥R A X (@13M3TH)/Bureau of Indian Standards (BIS)

(b) HRAT ATAF AT (AZCHNS)/Indian Standards Institute (ISI)

(c) i garar &3 (@1§$)/Bureau of Energy Efficiency (BEE)

(d) s faege faferarss e on/Electricity Regulatory Authority of India
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38.

39.

40.

......................... & HROT Feloelea wiidel § SURT IMSARESA (IR-6000) 3R S
(3IR-290) A Fd=aT & FA B

Isobutane (R-600a) and propane (R-290) are preferred over halogenated refrigerants because of

(a) oA AP, o9 FAT G&TaT
Low cost, high energy efficiency

(b) T saaeTiear 3R AFaa HEATCTANT A9HA
Low flammability and lower attainable temperatures
(c) e 3= sraer fasg

Low ozone depleting potential
@ fahen (@) 3R () FEE, AR (b) S

Options (a) and (c) are correct, but not (b)

The use of accumulator in refrigerator is

(a) wdss A FafAa dat # Hager &1/ To collect condensate gases from compressor
(b) wdrEF A Wil &1 HBROT FX4 / For storing refrigerants from the compressor

(c) dm A I/ Exchange of heat

(d) ar~UA F a1E ga TS ST HERT FT / Storing liquid refrigerant after evaporation

M F & SR Ao & Pfed SRR gl
During winter season the processes involved in air conditioning are :
(a) ama T AEfeoT/ Heating and dehumidification

(b) haeA g ANEET/ Cooling and dehumidification

(c) &I U HEfRIOT / Heating and humidification

(d) #7 3mEEeRtor / Humidification only

¥ad: RAquweT § aar W@war Wt # eafaiea fewar 8 &

An auto defrost refrigerator has the following specialty:

(2) A Feell & [y FeaAredfce T T §
A Thermostat is attached to the evaporator coil

(b) U G AT el & FU @ g1 1 UHA FATE
A fan blows air over the evaporator coils

(c) e Ffordi o FU A Toh arde ded faver giar g
A heating element is wound over the evaporator coils

(d)  aTou el T SURT gt R ST

No evaporator coil is used
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41.

42,

43.

44,

45.

The advantage of an inverter Air Conditioner is

@) Fo R & A fosrel e g W Y ag 1S FT § 3 3w fae=srear s
It works even during short power failure and gives very high cooling

(b) m#m*mwﬁ.ﬁ.wwmm%ma@w%
It uses D.C. power supply for running compressor and is very efficient

© e qra 1 IIAT e & T, o 3rmaret T R AT g
Very silent operation, since battery power is used

(@) TRARE TeNae T 35T AET Far IR AT INAR IAETT H TR 71 &

Uses no conventional refrigerants and hence ozone depletion threat is not there.

T2 ey, FREwt R #, e Acafts A F ay F fafea R o g, & e sgEa
T3 TR gt # 3TTET AT SATMET FHTF oo ThIT T8Il g

In large air-conditioning units used in big offices, factories, etc. where huge amount of air to be
cooled, compressor used is -----=sa=n=n- type.

(a) 9REaRE / Reciprocating (b) o ar3radEr/ Screw or Centrifugal
(c) TR/ Scroll (d)  goft/Rotary
ST AT oo eeenesecrenns T AGT FIAT &

A pressure gauge measures ---------------- .

(a) Hyotera/ Total pressure (b) FrgHSAT T/ Atmospheric pressure

(c) fAT9eT a1er/ Absolute pressure (d) 3TFd A A F s/ None of the above
A FART 28 Fold AT TMEF oo, AH ¥ ST ST B

Mono Chloro Di Fluoro Methane is a refrigerant known as

(a) 3l 12/ Freon 12 (b) 3T 22/ Freon 22

(c) W31 122/ Freon 122 (d) 3T 500 / Freon 500

3.5ﬁm#meszW$mmmm§Uwﬁmm
RT ST TFAATAT TATHE AT covvveeererererereoresnnnns gl

Using a refrigerator having COP of 3.5 and compressor rating 2 kW the maximum heat that can be
removed per second is

(@ 70007 (b) 570KkJ © 175k @ 15
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46. IR WHsReT a1 aaREAT A HOE Tt R (e dw o sd §) SEr & ar 9Rom
.................... ghm|

If the refrigerator or air conditioner is “over charged” (excess gas filling), the result will be
(a) T 2Bt M=t / More efficient cooling
(b) YOI T HA U= F2ur Hdises &y a3fy

Over heating of the system and damage of the compressor

(c) WU |Te] AT a131Y AT NAeTad STET F3 / System will not start or cool
(@) 3T 3 T argHEe 7 813 feam Sreen 3R yome AT w9 @ SR R

Excess gas will be released to the atmosphere and system will work normally

47. 100% JTIfEIT KAl T AT dod AGA Yo Tod AT G Tofel F oooveveveeeene g
The wet bulb temperature at 100% relative humidityis __ dry bulb temperature
(a) A/ Same as
(b) fAFIaT/Lower than
(¢} 3T=a¥/Higher than
(d) 3zA A vw 78/ None of these

48.  JTerT-3eT Jonforat A qere F FET AcATEAT TOTN B THT ZAT oo gl
The central air conditioning system has overall efficiency as compared to individual
systems.

(a) @AW /Same (b) fa&TaT/Lower
(¢) 3<aa’/Higher (d) SH G U T AT/ None of these

49. TE TMas # Hifaw 9 Izgad P

A refrigerant with the highest critical pressure is

(a) IT-11/R-11 (b) HT-12/R-12
() FR-22/R-22 (d) 3AfAIT/ Ammonia
50. fAEfaor ufeham & SR e feR warrsah &

During dehumidification process, remains constant,

(a) 3K ae9 ATTART/ Wet bulb temperature
(b) T 3T/ Relative humidity

(c) s dea ATIATT / Dry bulb temperature
(d) fafrse 3méar/ Specific humidity
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The unit of thermal diffusivity is

(@)

m/s K (b) mfs (¢) m¥s (d m¥sK

52. Hqfta &I FfE a1 9T IEAT oo gl

Degree of saturation or percentage humidity is

(a)

(b)

(©)

(d)

1 #1.2 v A # IUREY STel aTs9 & GIAlT

The mass of water vapour present in 1 m? of dry air

1 f3.3. 2o a1y A 3T STeT aTeq 7 FEAHA

The mass of water vapour present in 1 kg of dry air

o AR F AT GETATT A STl aTSq & AFcATash godaed AR I Geaat Hr qeah a1
Y ST S ATIATS T ST IR HeJoel T ST @ e ST STe a7 S i< 1 3fe7ared

The ratio of the actual mass of water vapour in a unit mass of dry air to the mass of water
vapour in the same mass of dry air when it is saturated at the same temperature and pressure

FH A & AU T AT H STl Aoy & IATIF GeAAAIN FH ATIHATS FAT G196 T
eedt FRT TTT TAT T T AT & STol aTsY SSI AT &SI T 3T

The ratio of actual mass of water vapour in a given volume of moist air to the mass of water
vapour in the same volume of saturated air at the same temperature and pressure

53. arsq @iz a% #F wehas 1 Uiy ooF dqea arsd B A

54.

In vapour compression cycle, the condition of refrigerant is ‘dry saturated’ vapour

(a)
(&)
©

(d)

e & IR+ & 916 / After passing through the condenser
T & Tt § 9ge / Before passing through the condenser
THR AT 3T ared { IERA & 4G

After passing through the expansion or throttle valve
HYISH & 93U FIT W 9gor/ Before entering the compressor

At argaEr X At & fow ggerd faes oMl (s gl

The cooling system used for supersonic aircrafts and rockets is

(a)
(b)
(©
(d

AT g Aol JTet / Simple air cooling system

H@'@'q al?-n?_ﬁ\ﬁﬂ'm/ Bootstrap air cooling system

s afverer arg Afide Jorrelr / Reduced ambient air cooling system
Terferaely arg AfieTeeT YoIrelf / Regenerative air cooling system
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55. R A T TH U H M U TREfRT e F [T 3¥ F3l § FoX § 39 awEmE |
garfed AT A@IfgT

In order to cool and dehumidify a stream of moist air, it must be passed over the coil at a
temperature

(a) i 3MTah YT & Yea Todl TUT I Tod YA & ST T3 §
Which lies between the dry bulb and wet bulb temperatures of the incoming stream

(b) St HTEH HRT & 3115, Tod aUT INHIP ATIAET F ST I5ar g

Which lies between the wet bulb and dew point temperatﬁres of the incoming stream
(c) St TS URT H3NTTH ATTAT § FH &

Which is lower than the dew point temperature of the incoming stream
(d) S IHEH URT Y TGISH Hfoe T ATA §

Of adiabatic saturation of incoming stream

56. frdT meias o & Afadaa=

The superheating in a refrigeration cycle

(a) .3 Y afkafea &1 FIAT/ Does not alter C.O.P.
(b) H.:N.YY. F TSIATE / Increases C.0.P.

(c) Hr.3NdY. I HHF AT &/ Decreases C.0.P.

(d) 3AH A T 8Y TET / None of these

57. [orm dX T gl
The value of | :::2 dx is?
(@ log(x?) (b) log (1+x%) (©  exp(l+x®) d) exp(x®)

58. gaeRr & A F aweaaar Refaf@a aehds & 39T dar B

Refrigeration in aeroplanes usually employs the following refrigerant

(a) CO, (b)  3HTe-11/Freon-11
(c) 3T-22/Freon-22 (d) ag/Air

59. fAFeR araATHt 3R erat o, it srefereh & arsuer st ayeey FwaAr

At lower temperatures and pressures, the latent heat of vaporisation of a refrigerant

(a) gdrg/Decreases
(b) wedrg/Increases

(c) 3aREfcd It § / Remain same
(d) 3T ucH WA EATE/ Depends on other factors
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60.

61.

62.

63.

64.

65.

40 f3aft ¥ W W@ 1 R S & 9 gl a9 9 A Seo & ToIT 30T ar (k cal #A)
Heat required (in k cal) for converting 1 kg of water at 40 deg C to fully steam

() 600 (b) 210 () 2394 d) 60

Density gradient assisted heat transfer is

(a) wfea Ha&=T/ Forced convection
(b) Faranfas §984/ natural convection
(¢) Tt/ conduction

(d) fafevor/radiation

............................. eanT ‘aA & aRenf¥a R ar w@ar §)

‘Temperature’ can be defined by

(a) AT % TUH FAH / first law of thermodynamics

(b) TYTAHRIYH forT# / Newton’s first law

(c) FeATcrRhr & eaeife fRTH / Zeroth law of thermodynamics
(d) 3'“['{13?1' # & uep 47 €T/ none of the above

A g i 9T GFE aAeE @A & AT heE-12 3 NH$r 3mawas gead =

For same refrigeration load and same temperature limits, the mass flow requirements of Freon-12
and NHj are in the ratio:

@ 21 (b) 1:3 @ 19 (d 9:1

T FARAT FTMTOT JUTe F ITT G T T 56 T BT & .ooveeerrererreeennnns ERIG I
A pressure of 56 bar on the high pressure side of an ammonia absorption system corresponds to :
(a) vETes &Tsf/ Operating pressure

(b) 3ITA FAOF & / Maximum allowable pressure

(¢) 3r9qaTea &/ Insufficient pressure

(d) woTrelr 7 &7/ Leakage in the system

Absorption refrigeration system has the advantage of

(a) 3HaOYT ffceteT / Subzero Cooling

(b) <ufdd T FHF 3TN/ Low power consumption
(¢) a9/ Quite operation

(d) g FH T/ Very low maintenance
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Ife aiffag A & gerar IR AuRT a9AT wF R w@r anar §ar wehaT o & deid

66.

67.

68.

69.

70.

..................

If the evaporated temperature is increased and condenser temperature kept constant, the COP of a

refrigeration cycle will

(a) eI/ Decrease

(b) &I /Increase

(¢) 319Rafda WM/ No change

(d) ST ST ST HehdT/ Cannot say

Rl wefieter womrell 3 A UTFR 1 T oo gl
The location of oil separator in a refrigeration system is

(a) oTdrE® iR HufaT & T/ Between compressor and condenser
(b) el 3R arfews & i/ Between condenser and evaporator
(c) HTHIET J3cAT W/ At the receiver outlet

(d) guOTEEe 9T/ On the suction line

IR (x-1) (43+3x%-ax+k) FT GHEFHF & A @ FT AW v, |
The value of “a” if (x-1) is a factor of (4x*+3x%-ax+k) is

@ 1 ®) 2 (© -3 (d)
BIBETHIEY e, & AYT FIT 8l

A hydrometer measures

(a) 3MAfETF AT/ Relative humidity

(b) X987 3T/ Absolute humidity

(c) Wt gal 1 argART / Temperature of flowing liquids
(d) argr IMEF 3éar 3T / Relative humidity and pressure of air

TH N 4 HeT 30 B 7 360 R A gft a7 wh &1 3w e oy

A car covers 360 km in 4 hours 30 minutes. Its average speed is

(@) 60 km/hr
(b) 45 kmv/hr
(©) 80km/hr
(d) 26 km/hr
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71,

72,

73.

74,

e weiider wotelr

A refrigeration system

(@) TRl BT aTaaAeT Ris & arg @l Ao 38 Rt soa arva s & faaRa &g

Removes heat from a low temperature body and delivers it to a high temperature body

(b) TRy 3T QIR Rz § ard S e 38 fR e araare fs ) fadRa ety

Removes heat from a high temperature body and delivers it to a low temperature body

(©) 3T qU AT aA & 99 FH T Scoea e

Generates work out put between high and low temperature
() PS T RAATS TeT= A6l

Do not provide any energy exchanger

S et afAeR @ god g ¥ HeERd W F9s § faver g3 @r § 79 e g &
TTTHT T ooornerereenrnnsssnsennes FEd ¢l

The temperature of air recorded by a thermometer, when its bulb is surrounded by a wet cloth
exposed to the air, is called

(a) 3T gow AM9A / Wet bulb temperature
(b) Y~ Jew amAE / Dry bulb temperature
(c) 3 argAR / Dew point temperature
(d) ¥qfSTamAR / Saturation temperature

Hftreer B RFsRe Prafaf@a srivae qorrelr o & 3 ¢

Most of the domestic refrigerators work on the following refrigeration system
(@) arsTEHS / Vapour compression

(b)  aTSY 3FATOT / Vapour absorption

(c) @il @ / Carnot cycle

(d) FegIawd MWhaet / Electrolux refrigerator

WE o8 We@PE aur afsas TREARE Wdlisa gonfadl A came ¥ ¥ 9gFEd SRl
.................... gl

In larger industrial and commercial reciprocating compression systems, refrigerant widely used is
(a) ¥FAAFT/ Ammonia
(b) A 318 HIFATSS / Carbon dioxide

(c) TR 33 3iTearss / Sulphur dioxide
(d) ¥R-12/R-12
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75.

76.

77.

78,

79.

80.

The refrigerant for a refrigerator should have
(a) 3=9Hdgy %A1/ High sensible heat
(b) 3=u HYUT FwAT/ High total heat

(c) 3T 3= F=AT/ High latent heat

(d) %7 9T 3%/ Low latent heat

33°C TUT -3 °C AYATT & oTa A Fl=tare forelt Wraex s Ay oo gl

The COP of a refrigerator working between temperatures 33°C and -3 °C is
(a 11 by 7.5 () 0.091 d -1

One ton of refrigeration is

(@ e FREA3H A 9gFS T STwaren A gfae

The standard unit used in refrigeration problems

(b) UF T 6 F N A 3o 2ot yorg

The cooling effect produced by melting 1 ton of ice
() 24 H2I H U T STl Y 0°C T 0°C F % & F & AR &7 w2fast gora

The refrigeration effect to freeze 1 ton of water at 0°C into ice at 0°C in 24 hours

(d) 24 HET U e % 37U+ et & fore 3nfl@a welias 3t & aega T

The mass of refrigerant gas required to produce 1 ton of ice in 24 hours

T 240V, 120W ST &7 R 9T oo gl

A 240V, 120W lamp has a working resistance of

(@ 20 b 60Q (© 120Q (d) 480Q

2000 iRy arelr el AR Y S QAT B A § AR 3 s Fie 8y @ s
foram ST &1 3EeT AT GRAT gl

The length of a certain conductor of resistance 200Q is doubled and its cross-sectional area is
halved. Its new resistance is

(a) 100Q (b) 800 () 50Q (d) 400Q
aﬁﬁmﬁrmowa?awaﬁwﬁﬂqgrm%mmﬂwﬁm?m,waﬁzﬁ,
........................ Bl
A 100 watts bulb, if switched on for a day, the energy consumed in power units is «---
(a 24 (b) 0.6 (¢) 100 (d) 2400
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